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3. (a) What are the possible state and ACID property of 8. (a) What is object relational database ? Describ

(123

the
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a transaction ? Explain. + advantage of object relatignal approach. -
(b) What is shadow paging ? How is it different from -~ (b) Expi.n various feature of enhanced SQL of object
log-based recovery techniques ? Explain. . relational database with the help of example.
4. (a) | What is concurrency control ? De:sc}ﬁbé:-optimistic e —_—
- concurrency control techniques. » | ;
(b) What do 'you mean by deadlock ? Explain 5
deadlock prevention, avoidance and detection. ’% :

5 (a')'; What is data warehouse ? Describe the various
characteristics of data warehouse. _
() Explam the concept of star, snowflake and fact
cancelation schema with example.

6. (a) What do you mean by DDBMS ? What are the
advantages and disadvantages of DDBMS ?
(b) Explain data fragmentation and data replication.
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7. (a) Discuss how database object can he created and

queried in object oriented database system.

(b) Describe the yasic concept of an object oriented

database sys

m. How they are

conventional database system ? "
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